
�����������	��
�����������������������������������������������������������������������������������������������������������

�

�������������������������������������������������������������������������������������������������������
�

�
���
������������������
��������������������	��� � ��	�

�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�

��� ����"�� � �"� � � ����
�
�

� �
�� #� �7�9�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�# � ������ ��� 
 ����� � $ "#����� ���� % �����������
�
�



�����������	��
�����������������������������������������������������������������������������������������������������������

�

�������������������������������������������������������������������������������������������������������
�

�
���
������������������
��������������������	��� � ��,�

�
7�9��� +�(����"	
1(+/�+(*4�)�
�
$���	>�
��	��
������	�
������	�������� �������	��������	�
����
�	
��������������
�*����
�7���
�����=��	������
�
��������
��������	�
� ������
��	���
��=����������

����	��	�����.
��11#��

�
��
��� ��� ��� C
�����	� ��� ���� C
��	������� ��

����=� ���� ���

� 3��	�
� ��
�� �	�� ���
�������
C
�6	�5��	�4��	����$����	���
�������	�
�����?�	
��������
�
������
����	�
����	�������	�������
�
�
�*����
���	�
��=��
	�����	����	������

�����	��������
���	��������	�
����
�	
��������	��	��

��	��*��������L �����(��*�+,-(�5+	0(+	(���0(*�(�(�
�*����1
*��*4
�����(�� *	8*���+
5�(��*����(G
�������
�
�	��
�7���
������������
	���
������
��
��
�	���=����
�*����
�����������
���
���+�+�����������
�	�
���	��
������
���������	��	�����
	���
��	�
� ���
�������� 	��	��	��&�����
	�����������
�
7�9�����	4�(1	8*��*��(�� *	8*���+
5�(�
�
$� ��	����� ���� �.
� �++�=� ��� �

������	� ��� ��
��
��
�	���� �	� ��� � 	��	� ��

���=� ������� �	�
� 
��	
������	�
�����
���
��=�����	>���
����)&1�J���=��
	��	��
������	�
��
�
���
�����
�����
�++�� ���� �,=�� <�� "�	� ����
�
=� 5� �� ����
� ��� ������ ������ ������ ��� �
������	�
=� ��� ��	��	����
������� ��� �	�������	��� ��
�� ������
� �
	� �
�� 
�*����
�� �	�
� ���
�� ����������
�� �	� ��� ���

�
3��	�
=� �

������ ��� 7��� ��� �.���� ��� ����
� ��� 7��� ���
� �	� 	6��

� 
������
� ��� �����
��
�����

���
	���
����������������


��
�������������

��
�
�	� ���� ����
��� �� 5� �� ��� 
��
��� ��� ��������	� ��� ��� �

������	� ��� ��
���	
�� 5� ��
������=�

�����������	��=��	����� 	��	���

�����8��������������
�>�
����	����

�������	�����

������	�
��� ��
���	
�=� 5� ��� ��� $����	��� �	� ��� ����

� ���� ��
������=� ��	�

� ��� �	� �

���
� ��� 
������
�:��	���	�7���5������	���������++�������������������������

������	��

��	��������������	�
����
	��������
�

0 20.000 40.000 60.000 80.000 100.000 120.000 140.000

Suecia

Francia

España

tep
�

-��!���<=���	
!������
����	����	�������� ������!�	�������7<><�>���7���!�4 �
��%J�8��
�
�
�



�����������	��
�����������������������������������������������������������������������������������������������������������

�

�������������������������������������������������������������������������������������������������������
�

�
���
������������������
��������������������	��� � ��+�

0 100.000 200.000 300.000 400.000 500.000 600.000 700.000

Suecia

España

Reino Unido

Austria

Dinamarca

Italia

Francia

Alemania

tep
�

-��!����=���	
!������
����	
��
��������� ������!�	�������7<><�>���7���!�4 �
��%J�8��
�
�	����������
���������

������������

������	�
�	��	���������	����	�����	��
���
�:��
���.
��
������
������������
��	�
�������
������
��
��
�	����5�����
���������	����������������������
��
�

����
�� �	�
� ���
�=� 7��� ��
�	� ��� ���
��� �� �	�� 
�������	� ��� ��� �
����	� ������� 7��� 
�����
�
�
�����
���

����
����	�

�����	���
�
��������


��
���������

��	����7������
��
��	�5��

�*����
�� �
	�
��
�=� ��� ���	� ��� ��
����
� �	�������
=� �	� ��� �

�>
	��� ���� �.
� �+�+�� ������
��
���������
	!�
�

e �	+�14	.(� ���7O7�O��=� ��� &� ��� ��5
� ��� �++�=� 
�������� ��� �
��	�
� ���� ��
� ���
��
��
��
�	������
�

���
�����������
�	
��������	�����
�	��

���

�
� ���������� ��� 
�*����
� ��� ����	>�
� �	�� ��
��� ��� ��
���
� �	� ��� ����

� ����

�
�	��

��������<��	��++(�5����(=#(<��	��+�+�
�

e �	+�14	.(� ���7OA@O��=� ��� �#� ��� 
����
�� ��� �++�=� �

� ��� 7��� ��� 
����
����
�� ���

 ����	��
��	���
�
�������
�����	�����
���

����
���	�
� ���
��5������������
�������

�
� ?��
��� ��� �
���������� ��� ������
� �	�� 
�������	� 
� �:�	���	� ������� ��
�� ���

��
��
��
�	����

�����
��	��

5���
���	����
������
�
�
�

7�9���� *:�	)	)������ +�(����"	
1(+/�+(*4�)�
�
�
��B��������� !"�#$��"� !%�
�
��� �
	���
� ��� ��
��
��
�	���� �	� ����.�� ����	���� �� ��	����� ��� �++)� �� ��&=�� J����� ���

�����	���������������
�����	���	�
���	��������
����7��=�����������.
��+++�	
��:������	�	��	��
���	�������

������	������
��
��
�	�����	���	��
	����	�
=����	�
��� 7�������	���������++)�
	����

������5���
���������
���

��
��	�����

������	������
���	
��5��������:��
���	���
��	�

����
����	����	��������

�������
���������
�
4�

� ���� 7��� �
�� ���

��� ���
���
�=� 7��� 	
�� �����
�	� 7��� �� ��	����� ��� �++)� 5�� ��� ������
�
�������
����)(=,<�����
�*����
��	�
� ���
�7�����*�����4��	����2
��	�
���
��������
����	����
�

�>
	�������+�+=��
����

��	����	����������

���������	��	��������
������	�
��	����7������
�	���	�
�=�7�������*���	�����	�
�
�����:��	���	��
�	����	���
�������������
����*
���������
�
��� �	���	�
�� �	� ��� ����
�� �=� �	� ��� 7��� ��� 
���
��� ��
�������	��� ��� ��
�����	� ���� ����

�
��
�	����
��6����
���.
���



�����������	��
�����������������������������������������������������������������������������������������������������������

�

�������������������������������������������������������������������������������������������������������
�

�
���
������������������
��������������������	��� � ����

� �

�� ��

���

�9;

��9

���

+

(+

�++

�(+

�++

�(+

�++

�(+

)++

)(+

(++

((+

,++

�11& �111 �+++ �++� �++� �++� �++) �+�+

J�
��

�
-��!���7=��%	�!�����
�������	
!������
����	����!�����
�0�
��
!
����
�����%�
�������� ���	�
���

�����
��-	� ���	������&�� ��	
�
�������+������ ������'�����
�
4

�6����
=�5�
������
�������
�����

5���
��7����������


���	��	�	����

�����=����������
�7���
�	� ���������������:����	��

5���
������

������	���	�
������
���	
���
�
������
���������
��
�
���

�������
����
�>�	��

���������
������
�������
�
�����
����
���������

���
=����	�
���
7��� �	� ���� ���	���� ��� �

������	� ��� ��
������� �������� �	� ��	��
	����	�
� ������ ��� ������ ���
����
����
����������7��������
�����=��	��
�
���
�����
�=��������������������
=��

��	����
��
�������	� ��� �
���
� ���� �

����
�� ��� �������� ��� ����� �	�

�����	� ��� �	���	�
�� 
��
����� ��
�
	��	�����	��
�

"	
1(+/�+(*4�)2�5+
=�14
)��*��N5�
4(1	8*�&�AAA����;'�
�

� C0�+
���
5+
=�14
)

�*�+,-(
5+	0(+	(�&4�5'

� /��4	.
����
��(*������&4�5'

��05�	0	�*4

����
/��4	.
�&L '

3�
���	
� � ��(�#++ )++�+++ 28,9%

3�
������ , ����(++ �++�+++ 112,5%

�� � # 9 ��9���� �������
�

�
�
C
�
� 7����� 
����*��
� �	� ��� ����

� ������=� �� ��	����� ��� �++)=� ����.�� �
	����� �
	� 
��
�
���	��������

������	������
��
��
�	�����	��:��
�����	=��
�������
���	
��5�����������
��������
�����������������������������	���	�
���	����������7�����������
�����
	��	�����	!�
�



�����������	��
�����������������������������������������������������������������������������������������������������������

�

�������������������������������������������������������������������������������������������������������
�

�
���
������������������
��������������������	��� � ����

�

��(*4(�
�
0�*	�(��
 �48*
0(�

"	
1(+/�+(*4��
�(5(1	�(�����

5+
��11	8*�&4O(G
'�
���)4(��*�
0(+13(�

��
��
��
�	����
����.
����

'�
����
@C�
����	�A�

3�
���	
�� &+�+++� �+++�

"�
�J���
����M��� ��

C�����.��
@'
	�����A�

3�
������� ,�+++� �++��

3�
���	
��
G�������

G�������
@C�
���A�

3�
���	
�� �++�+++� �++��

3�
	���
��

���

C�����.��
@?���A�

3�
������� ,�+++� �++��

3�
	

�
/
�	��

�����	�

4����M���
�
@3�
�	�������A�

3�
������� �+�+++� �++��

3�
����������
C�������B���'�	����

C�������B���'�	����
@"�	���������A�

3�
������� )+�+++� �++)�

3�
	

���
$���
����@"��'�
��	�
����?�5�$�
���
A�

3�
������� )�+++� �++)�

3�
������B-8$��
'��
���@$���������

0 �	�
��A�
3�
������� (�+++� �++)�

�
�
��� ��������	� ����
���� �	� �
�� ��

��
�� �	��
�

��=� �
�������� �� � 
��	
�� ��� �	�
���� �
���
���

�
���� ��� ��	

���� 7��� �����
�� ��� ����
�� )=� �	� ��� 7��� ��� 
���
��� 7��� ��� �
���� 	���
	���
�


���
	���	��������������

�����	��������	���������++)�����&��++������
�

TOTAL:

228.200 TEP

18.000 TEP

50.400 TEP

51.200 TEP

64.500 TEP

4.500 TEP

3.600 TEP

36.000 TEP

TOTAL:

228.200 TEP

18.000 TEP18.000 TEP

50.400 TEP50.400 TEP

51.200 TEP51.200 TEP

64.500 TEP64.500 TEP

4.500 TEP4.500 TEP

3.600 TEP3.600 TEP

36.000 TEP36.000 TEP

�
�

-��!���?=���	
!������
����	����!�����
�����
��1����,�����
�
�����?��'�����
�

�
��B�������(*&"�)(�� &"$)%#+�")(�
�
"�� �
	
��� �
�
� ��
��
��
�	���� ��� �
	*�	�
� ��� �
����������� ��7���
�=� �

��	��	���� ���
�����	���� �
�	��

����
	��� ��� ��� ����
��� �������� 
� �	����=� 7��� �����	� ��
� �����>��
�� �	�
�
�

�������������
�=��	�����������	�����
����
����
������
��������������������
	��	��
	������
3�*
� ����� ��	
��	����	=� 	
� 
����	��=� ��� 
��
��	� �
�� ��	���� ��� �

����
�� �
�����	���
����
�	���=����������
���	
��5����������
��������
�
��� ��
���	
�� ��� 
����	�� �� ��
��
� ��� ������
�� �
�����
	����� �
�
� �
�� ��� ��
���=� ���>� 
�

��
�����=� �����	��� �

���
�� ��� ���������	� ��� ��� ����
��� �
���=� ��
��	�����	� 5�



�����������	��
�����������������������������������������������������������������������������������������������������������

�

�������������������������������������������������������������������������������������������������������
�

�
���
������������������
��������������������	��� � ����

����������	��"�����������
	�����	���
��������������>�����
	����
��	���
����	���������
������	����
�/3�=��	�������
�
:���	��
���
���������
��	�����	���
�
��
�
4

� ��� ��
��=� ��� �

������	� ��� ��
������� ��� 
����>�� �� �
�� �� ��� 
��
���
	��� ���
�
�	�����
��������	�5�
���	
���������������������=����	������
��@��
��
��
��
�>�=��

��*����
A=�
���	� ����
��� ��� �

����
� ���� 
���	��
� ��� �������
� �	� �
�

��� ������� �
�
� ��������
� ����
������
=�5�������	���>������
	� ����
��
�
�6	��
���
��
�	����
�
�
��B�������(*&"�)(�� )', !��-)(�
�
�	���������
���

��
��
�����
���������

��	������
	�����
��
����	����	����
	!��
�

ü �	+�14	.(����7O7�O��=����&������5
!��������������
�*����
��������	>�
��	����
������
��
���
��	��������

������
�	��

��������<��	��++(�5����(=#(<��	��+�+�

�
ü �	+�14	.(����7OA@O��=�����#����
����
�!��
������������
�������	�
��:�	���	����������
��

�����
��
��
�	����

�����
��	��

5���
���	����
������
�
4

��
�7���
�����������������������	�	���
	��=��
������
��������������������
�	����
��6����
��
�����
�=������
���
	�
������	������	

���������

���=��
	!�
�

ü #�=� �7O����=� ��� �+� ��� �������
�� 5� ?���� 8��
��
� �#�1H�++�=� ��� �1� ��� �������
�!�
���������	��	���:�	���	����������
�	���(��.
�����������	�������
�
=�5��	���:�	���	��������
�
����������
���������	�����	����
�����������=������	
�=��+���

�
ü ��(����1+�4
��>��O���7=�����(�����������
�!��
���
	�����8�
��������++�H�+=�5��������

����������������
	��� � �	����� 
����������� �����>���������
���	
�� �
	����
��	����� (�<� 5�
����
��	�� 7��� ������ ��>����=� ���� �
�
� ���� ��� ��
������� �
	� ������
� ��� ����
�
�

��	��*��	
��
�����	��	����7�����
����������

�
ü ��(����1+�4
��>7AO���7=�����1�����������
�!��
���������� ?������	�
���� -������
��

����������� ���6	� ���� 
�������
� �	� ��� ?8� ��,(H�11(=� �
������	�
� ��� ����	����	� 5�
�

�������	�
� ���������� ��� ���
� ��� �
�� �

5���
�� ���
�
� ��
�� ��� ����


��
� ���
���	
�
���������

������	������
��
��
�	����

�
�
��B�������(*&"�)(�
 &/�)!, 0�&$�!%&(�
�
���
���	���	�����
���
�
�	�����
�
���
������

������	������
��
��
�	�������	���	���	����	����
�����	�����
�
�
�����	��=����	�
�	
�����
����	����
���������	�����
���

�������
�����
�����
�����
����������


��
����������
���	�
� ���
����
������

������	���������
���
�
=����	�
���7���
�	� �*����
� ��� ������
� �����	���� �
�����
� ��� �	���	�
�� �	� ��� �����
� �
�
�����
��� �
����
��
�����
���	���	������
��
��
�	�����������������������������
�=�����������7����
	�������	����
������	�5����

�>����	��	�
� ���������	�
�����
��
�
4

��
�7���
�������������	�*
�5�������	�������
��
��
�	��=������
���
���������������	�����

�
����
�	����

��	���������������	�
���������������	���=��������������
�������
����
����
�����
�
�������������
�������	�����	�����
�	��

����
�
4�

���	�����=����������
�������������
�
�����
	��
��
	� ����	����	���������	����������
����
�
����
��
��
�	�������
����
�������������
	���������������
���
�
�
�������
��������
�������	�
�	��
�

��� ��� �
������
��� �	� ����� ��	���
� �:����	� ����

��� ����
��	�	���� ��
�� �
	����
�
�
����� ������
� �����	���� �
�
� �
�����
=� �
�
�� �
�
� �
	� 
������	� ��� �����
� ��� ��
��
�	����
�������� �
	��	��
	����=� �
�
� ������ ��
� ��� �
������� ����	���� ��� �>��
�� �	� ��� �
��
�����	�
�����	���� ��� �
�� ��
��
��
�	���=� 5� �

� �	��� �	� ���� �����
	��� 
�������
� ��� ��� �
�������	��
$������
=�5��
��	�
��
�
����������������
���
����	��
	�
������
����
����
��
�	�����������=�
�
��������
��
����>��
����	�
������
��	����	

��
���	�����	��
��������������������������	�����
�
�
�����
	�:��
������
�
	
=��
�����

��
��

���

�����
��
�������
���������



�����������	��
�����������������������������������������������������������������������������������������������������������

�

�������������������������������������������������������������������������������������������������������
�

�
���
������������������
��������������������	��� � ����

�
�
��B���.���(*&"�)(��")$#, �")(�
�
��� �����
��� ��� ���� ��
������ 7��� �	���5�	� �	� ��� �
���� ��� �

������	� ��� �	� ��
��
��
�	��� ���

��
��� �	� ���� ����
��� (� 5� ,=� �
	��� ��� ������ 
���
��
=� �	� �
���
� ����
� 7��� �
�� �
����� ���
�

������	� ��� ���
�� ��
��
�	���� �
	� ���� ������
�� 7��� �
�� ��� �
�� ��
��
�	���� �������� ���

���
�	���=�5��

�
�

����
=�7����������

�7������	���	����5

��	����	����������

������������
�
�
���
���������

������	���������
������
���
�����������
����
���������>�����
�

Para E5
Tamaño planta [1] 200

Inversiones Meuros
Inversiones material
Total inversión material 136,1
Inversión inmaterial
Total inversión inmaterial 22,0
Terrenos
Stock inicial de cereales
IVA inversión
Total inversiones [2] 179,3
Amortización material [3] 27,2
Amortización inmaterial 4,4

Estructura de costes Euro/l
Costes fijos

Personal O+M y distribución
Mantenimiento planta
Otros costes fijos
Amortización material
Amortización inmaterial

Total costes fijos 0,2615

Costes variables
Enzimas y químicos
Agua y electricidad
Gas natural
Otros costes variables

Total costes variables 0,1233

Ingresos adicionales
DDGS
Electricidad y otros

Total ingresos adicionales 0,1828
Subtotal costos netos (sin materia prima) 0,2021
Materia prima Cereal [4] 0,3823
Costes netos totales 0,5843
Costes de transporte y distribución 0,0467
Costes de ventas 0,6310
Margen sobre ventas 0,0000
Venta de producto sin impuesto 0,6310

[1] En millones de litros. Datos basados en casos reales
[2] En el total de inversiones se han incluido todas ellas, pero en el cálculo de la amortización se ha 
incluido sólo el material y el inmaterial
[3] Se consideran amortizaciones a cinco años
[4] Se incluye como materia prima sólo el cereal, ya que el alcohol vínico 
no se considera sostenible a medio plazo �
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�Planta de producción de 50.000 t/año de biodiesel
Capacidad 50.000,0 t

Inversión equipos 12.621.254,2 Euros
Inversión obra civil 300.506,1 Euros

Amortización 5 años
Estructura de costes Concepto Euros/año cent/kg cent/l

COSTES FIJOS Personal de operación 841.416,9 1,7 1,5
Mantenimiento planta 120.202,4 0,2 0,2
Seguros y tasas 138.232,8 0,3 0,2
Otros gastos 649.093,1 1,3 1,1
Amortización equipos (5 años) 2.524.250,8 5,0 4,4
Amortización edificaciones (5 años) 60.101,2 0,1 0,1

TOTAL COSTES FIJOS 4.333.297,3 8,7 7,6
COSTES VARIABLES Metanol 1.156.948,3 2,3 2,0

Aditivos 450.759,1 0,9 0,8
Vapor de agua y electricidad 900.108,8 1,8 1,6
Otros consumibles 90.452,3 0,2 0,2

Materia prima Aceite de girasol 33.500.000,0 67,0 59,0
Rendimiento (kg/l) 0,88
Coste (cent/kg) 67,0

TOTAL COSTES VARIABLES 36.098.268,5 72,2 63,5
INGRESOS ADICIONALES
Glicerina Ingresos 1.532.700,0 3,1 2,7

Producción (kg/l) 0,053
Precio (cent/kg) 51,1

TOTAL INGRESOS ADICIONALES 1.532.700,0 3,1 2,7
COSTES NETOS
TOTAL COSTES NETOS 38.898.865,7 77,8 68,5
COSTES DE VENTAS Costes de distribución 3.425.769,0 6,9 6,0
TOTAL COSTES DE VENTAS 42.324.634,7 84,6 74,5 �
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